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8 PART-A of the question paper consist of 46 questions (1-40) which is common for all candidates, while
2 candidate will have to opt/solve only OINE subject either PART-B-1 Electrical Engineering (Degree)

consist total &8 questions (121 te 280}

=

(6 ¥ Gl 80 WET (121-200) T HEYES T

INSTRUCTIONS

s 4 & i
TE] HaAl s Lede

will consist toial 80 questions (41 te 124} {}Eﬁ PART-R-J Mechanieal Engineering {Degree) will

79 Qe B A 40 9 (140) ¥ W0 oy % i v e ¥ oenadt o o o U faw
A -l g shwite (8) ¥ deft 80 W @120 ST
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= r—— 1
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(Do not open this test booklet until you are asked fo do 50,

]
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¥
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Frder

1. Please corracily fill vour Roll Number in O.M.R.
Sheet. Candidate will themself be responsible for
filling wrong Roll No.

2. At the start of the examination before attempting
the guestion paper kindly check your test bookiet
and OMR Answer Sheel and ensure that

* The serial numbers of test booklet and OMR
answer sheet are same.

* Al pages of test booklet and OMR answer sheet
are properly printed. All questions from S.No. 1 to
fzst S.No. 208 are printed and pages from S.No.
410 last 8. No. 32 are there in the question booklet.

in case of any discrepancy / defect the candidate

should immediately report the matter to the invigilator
for replacement of test booklet and OMR answer
sheet Mo claim / objection in this regard will be
entertained affer five minutes of start of examination.

Candidate will be liable for it.

3. Answer all questions.

All questions carry equal marks.

Only one answer is to be given for each question.

If more than one answers are marked, it would be

treated as wrong answer.

Fach question has four allernalive responses

marked serially as {A), (B}, (G}, (D). You have {0

darken only one circle or bubble indicating the

correct answer on the Answer Sheet using BLUE

BALL POINT PEN,

Jse of Mobile Phone/Bluetooth Devices or any

other slectronic gadget in the examination nall is

strictly prohibited. If any such prohibited material
found with any candidate, strict action will be taken
agsinst him/her as per rule,

. If there is any sort of ambiguity/mistake either of
orinting or factual nature in Hindi and English
Varsion of the question, the English Version will
he treated as standard.

Warning : If a candidate is found copying or if any

unauthorized material is found in his/her possession,

£1.17, would be lodged against him/her in the Police

Station and he/she would liable to be prosecuted under

Section 3 of the Biate Prevention of Unfair means

Act, 1882 and Board Regulations. Board may also

debar him/her permanently from all future examination

of the Board.
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1 'Jhakham Multipy rpose Project’ is located - |

(A) Jodhpur

(B) Dungarpur
(C) Pratapgarh
(D) Banswara

STEY Eégwgs?m T arehe §

{(A) ¥ g%?\tg“{
(B) $TR
(C) yamms
(D) wimarEr

od

Shergarh Wildlife Sanctuary is
which district of Rajasthan 9
(A) Sirohi
(B) Baran
(C) Kota
(D) Bundi
IRTE eraire
e ¥ 7
(&) R
(B) =4
(C) =i
@) T

3 Where is Dood Babri located ?
(A) Ratangarh
(B) Chittorgarh
(C) Mount Abu
(D) Lunkaransar
39 SEr el R ¥
(A) g
(B) Rrdeme
(C) wrewe smy
(D) et

4 Govind Giri belonged to which caste ?
(A) Bheel
(B) Garasiya
(C) Banjara
(D) Kalbeliya
e M e Ry & awefer &7
(A) &
(B) TuRy
(C) s
(D) wreaferar
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Which one of the following is not correctly

maiched 7

Breed Animal

{A) Nali — Sheep

(B) Nagauri — (Cow

(C) Shekhawati — Goat

(D) Maipuri - Buffaio ,

Frefefes 4 @ o7 @ v g8 BRI N
EEiE 9y

(A) wweht - %

(B) =i -

(C) sramr: — gEY
(D) =gl ~ #g

Which dam is constructed on the

downstream (Near) of the Chulia Falls in
Rajasthan ?

(A) Ranapratap

(B) Gandhisagar

(C) Bajajsagar

D) anaharsagar

IR S 3 A 9 i () e
DI W e w %

(A) TTgET

(B) wieframre

(C) s

(D) wemewEmTT

Baithali minor irrigation scheme is located
at —

(A) Kota

(B) Jhalawar

(C) Baran

(D) Chittorgarh

el @ e aferemT aeRem ¥ -
(A) BT &

(B) wrrars &

(C) st 9 }
(D) ferdiiems
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Which of the following pair is not correctly

matched 7
iver Place of Origin
{A) Banas —  Khamnor Hills
(B) Banganga -
(C) Kantli -
(D) Kakni -

i

Bairath Hills
Khandela Hills
Kumbhalgarh Hills

R gt ¥ @ o W W g E 7
B T W

(A) ¥ ~ G U

(B) o ~ S UETE

(C) wfaeh ~  ESE UERD

(D) e ~ PTG e

The winter rainfall in Rajasthan is the result

of cyclones, which originate from —

(A} Red Sefe

(D) Mediterranean Sea

W § wee asl 99 snan &

GRETHEEY B ¥, S SO B § -
(A) W& | A

(B) e gre ¥

(C) om® mrre o

(D) = g

i1

b

o

Lo

{ ) Chomu-

il & 9 (g ?
WE SR W 8%‘:3 fren

(A) ST, EUO-TEE ~ A

(B) e ~ A

(C) Ir—amie ~ Y

(D) werga - @

The smallest Agro-Climate region in
Rajasthan is —

{A) Arid Western Plain

{B) Humid Southern Plain

(C) Semi Arid Eastern Plain

(D) Humid South-Eastern Plain

T ¥ wEY 9 Hiy-saay e ¥ -
(A) g TiyEw 5

(B) o el e

C) ordy @ Tom

D) o shror-gEl e

Jhamar Kotara mines are known for —
(A) Rock Phosphate

(B) Gypsum

(C) Bauxite

(D) Mica

HHT Biesl B fEes WY SR S8
(A) s wrhe

(B) oy

(C) wiwme

(D) svw

o
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14 As per rnth 's', climatic || 17 Which one of the following pairs is not 20 23
classification Wfr‘n ch of the following correctly matched ?
represents climate of Jaisalmer ° Lift Canal Profited Disiriets
TR % Sy T “%%\M A e (A) Kolayat  — Jodhpur, Bikaner
e e kaner
¥ | W WSO B A B URE e BY Gainer ~  Bikaner N _
. (&) age sSikaner, Nagaur (C) Khejadli
v (C) Falaudi —  Jaisalmer, Bikaner o ;
(A) TAd L ’ (D) Ratanada
{A) BAd (D) Bangarsar ~ Bikaner, Jaisalmer o PN N (D) Kharatal
MY DA o H Y o) aiaey 12 R A7 bt
\u> LIA'W %‘?*"ﬁ%‘ﬁw ﬁ YS{ Cﬁﬂé"“‘ L3l ET\U '@ IR W%x f@? T y - = 5 o Eode
() CA’ . N T AERAY HE N qES % TEEE % e § ey &
L Av‘g € ] vy — P W — X - -~
(C) CA'w & st R (A R W U R ) geiee Re 7
. \
(D) DB'w (A) s - WY, SEHET (A) FETSE
(B) ToRT : {g) W‘{a‘i V) I
(B) 99X - ®mEe, 9t . -
15 Tropical Thorn forests are found in which (©) e T G e !}}\ A (C) g
district of Rajasthan 7 (D) smsex — W, ST (D) ATt .
’ ) , (D) gaw
(A) Ajmer S 4
- : . N oo W an 1 ‘5:’ 11 £ Arid Haess %‘ et
(B) Jaipur 18 Which of the following is not the traditional 23 'The' Central Institute of Arid Horticulture
o method of water conservation in Rajasthan? is situated at — 24 The ruler who ruled during the period of
(C) Jaisalmer (A) Nali (A) Barmer three Mughal Emperors 7
LT . .
(D) Dholpur (B) Naadi (B) Ajmer {(A) Sawai Jaisingh
YT & fore fe 7 Somesforsd g s (C) Toba (C) Jodhpur (B) Mirja Raja Jaisingh
T T W B 7 (D) Johad (D) Bikaner (C) Sawai Mansingh
(A) e Freafefea o & & & e 351'?75{ ST Y HRE Y T S e R ¥ 7 (D) Sawal Pratapsingh
{B} W FRTI %ﬁ(&z @ %? . ’ ) <A> ”&q‘gﬁ? T8 D G ESG Ut Rﬂ“‘i‘%% E‘?@ W @mg?@l" %5
INE G - W 9T e ?
(C) SraeiT EB)? (B) sremi P
' a1 (A) TR Saide
(D) gt o (C) wherge (A) e T
(D) (D) ¥ .
. ) SIES : (C) war wFRE
16 Identify the incorrect pair of wildlife mascot DY weaE gt
presmbe for districts issued by Forest 19 The lone term Road Network develonment 22 Bikaner District falls in Whﬁch Agro- (D) waR yarare
Department of Rajasthan Government. Haeong L o opmett o Climate region of Rajasthar
g . planning of State/Rajasthan Government is
(A) Alwar ~ Tiger _ (A) A, Arid Western Plain 25 Ahar civilization also known as which
{B} Bhilwara — Peacock (A} Rajasthaﬁ Road Vision — 3020 {B} EB %Z’iigatﬁ‘é North-Western Plain anotner name 7
, . . . 2 and Daprtial Teraated (A) Ahadpur
{(3} Bfﬁaf&téfﬂﬂ' —  Saras {Cmne) {B) Raj&Sﬁﬂ&ﬂ Road Vision — 2072 ((j) C, éijpﬁf Arid and Partial Imgated i‘A‘) Aé’*:}‘up’ﬁ
g i - e Plain (B) Agachhpu
(D} Jalore —  Bear (C} RajaSth&ﬂ Road Vision — 2025 (D) LA, I oo Dra ceu \B/ Agw()uﬂpl
. N D) Rajasthan Road Vision — 2027 J H-A, iniand Drainage region (C) Aaghatpur
TETeT ST & o for g ) Rl ¥ o) = | % R oA & S R e ¥ ei-Seery ;@ Aadl
. . 5 e Do B S RHE Ol i o PN Aadnampur
Treiia sosira §JHeT & e §7 &) ey | T[T §T0 1 e &3 & o & o ¥7 b S
) o fire AderE O ¥ o G rEe g e oy W ¥ ) W oW B
v N (A) T O R - 2020 (A4) I-A, g5 ool fem (A) FTETYT
B\‘ q¥ 5 —  H] - ~ ) l ‘
(B) sierare ¢ (B) Trwem T R - 2022 (B) I-B, Rifr wwre-aRer dem (B) armyT
{e) - . , - . . )
W) WY R (5h+) (C) ey TS fosm -~ 2025 (C) I-C, o= yw g 9ifm ?%4;?%:;:; frar (C) SR
— T N — 377 ) 73 P e 2 —
el (D) TS g fowm ~ 2027 (D) H-A, dawae PR U (DY 3 GISEIE
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Which archaeologist is Qreéitec‘ f@i‘
focussing light on "Kali Banga" C
for the first time ?

(A) Amlanand Ghosh

(B) B. B. Lal

(C) Balkrishna Thapar

(D) R. C. Agarwal

fere qufeg & vom s @R I g @)
SeRTel § @ T S R s k7

(A) sFEmR

(B) . €. "W

(C) wrerpen ame

(D) ame. ©. e

Where the historical Pothi K
situated?

(A) Alwar

(B) Udaipur
'
L

Khana is

Jaipur

(D) Jodhpur

Uit TefreT el Rum ¥ ?
(A) et 4

(B) weyt ¥

(C) sage

(D) shegr &

M E
29 In which one of the following forts is
Jhalibab Bavri and Mamadev ka Kund
located ?
(A) Chittorgarh
(B) Gagrongarh
(C) Kumbhalgarh
(D) Taragarh

30

31

EIRICIE] EIEEHRCIEY TR T frw ¥ 9
5 g ¥ Ruw &0

(&) f‘?f?’“”r@

(B) s

(C) o

(D) arr

According to the Indian Constitution,
Rajasthan has been placed in which
category of Indian States ?
(&) I category Part A
(B) 1l category Part B
(C) II category Part C
(D) Independent State
A TR % AR TR & WRd %
fw sof & wow F e T ¥ 7
(A) wum geft A
(B) fedr g9 B
(O Wi & C
(D) wrds v

Where was Sadhu Sitaram Das born ?
(A) Bijoliya

(B) Mandore

(C) Tonk

(D) Bikaner

Y Y T A S HE o 7

(A) Tt &

(B) #weR ¥

(C) =iw %
(D) dmrT #

Who  was  the composer of
‘Samaraichchakaha' ?

(A) Jinapala

(B) Jineshwara

(C) Haribhadra Suri

(D) Uddyotana Suri
THUETIBRT BT AT B uf ?
(A) W=

(B) ey

(C) =z g

(D) vgdmm gl
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Ancient %ﬁﬁia
(A) Matsya J
(B) Rajnaya Janapad

C) Shivi Janpad

(D) Shalvya Janapad

g WG W RRIeT fhe ShE @) s
&7

(A) o TIE

(B) TSI SFIE

(C) B s

(D) I S8

The 'Bam' dance which is famous in Alwar-
Bharatpur, here the word Bam means —
(A New crop

(B) Men's group

(C) High voice of Lord Shiva

(D) Nagada (Drums) .
T T W SEG-AWYL F Ug B TRl S
s ¥ g ¥ 7

(A) 7R HES

(B) gosl & 998
(C) wam g @1 s=8 @}
(D) =mst

Who was the founder of Mayo College ?
{A) Richard Bourke

(B) Col. Dixon

(C) Lord Northbrook

(D) Lord Minto

Y IS B TS B a7 7

(A) Rue 7%

(B) wvw fewym

(C) @ ig®

(D) &% Rroe

In which district the tourist place Achalgarh
is situated ?

(A) Udaipur

{B) Sirohi

(C) Rajsamand

(D) Chittorgath -

wies W SEETs e e o Rew ¥7
(A) TEagR o

(B) R o

(C) TwwsE o

(D) Frieme #

38

| 39

46

m}

Ay Gopendrara;
) Durlabhrai
C) Vasudev
D) Vatsaraj
T S & ? afor R S o B0 e
Y7
(A) IO
(B) e
(C) =g

(D) TEas

Anasagar is situated at -
(A) Ajmer

(B) Bikaner

(C) Udaipur

(D) Jaipur

SRR Rud ¥ -

(A) oo o

(B) dwmT &

(C) seaye #

(D) waqe o

Jaisalmer fort is known by which name 7
(A) Junagarh

(B) Sonargarh

(C) Lalgarh

(D) Dhulgarh

S @ foran frw W ©
(A) STTTE

(B) €FTCT®R

(C) wme

D) g

PSR TR B0

(A) Ramgarh

(B) Karauli

(C) Jaisalmer

(D) Bundi

ey e @ vl wEl YT B 7
(A) TS

(B) &t

(C) s

(D) T
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‘Eqwz'gs by 90°

rotate anticlockwise by 9¢°

rotate %W 180°

i S = 0 W O TRhee wie ¥ e
TG A 3
(A) Rot @

90° & w2 &l gE @ ave g

90° ¥ =9l W g3 o wedr Row A gue

180° uv gog
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The effect of Tachometer feedback in a
control system is to reduce -

(A) Time constant

(B) Gain

(C) Damping

(D) Both gain and damping

T e yone ¥ et wRithar o e
T GHH BT § P

(A) Rex v

L

SV

The second derivative input signals modify
which of the following ?

(A)
(B) damping of the system

The time constant of the system

(C) The gain of the system

-

C

‘1)) The time constant and suppress the
oscillation

e sy $7yz Rrew o seeme B § 9

T AT W Ogear § 7

N
by

(A) & % Tau Poas g
(B) |

g5 & agaeE §
GERCTGIE )

g e g dun e
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()

B, system

() | loop system
Dy e

]

72

’s 'core logs” W}ﬁ -

ecrease and Magnetizing current I
il increases

Increase and 1, will also increase
Remai mmmm and I will be
5 onstant
{W)w&creaS@ and I will remain constant

(& e

mmﬁ\mw%wswﬁmﬁﬁmﬁr“ﬁ%ﬁ
TERISET ¥ S V/E Ret ¥ s e e
IR BT e En

& 8l [, g aro wh

I %ff‘f@%‘fw

(Bi e

@w%m @sr im &m T%:m

The crawling in induction motor is caused

3 Improper design

seay AR ¥ st (o) @ ¥ -
(4) e dw weE @ '
(R) Er &g X @

(C} Bl B 99TE ¥

(D) s feamem 9

N
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(D) O
49 Most commonly used modulation system

for telegraphy is -

(A) Multitone modulation
(B) Single tone modulation
(C) PCM

1§89/
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2
ST UT ST &;iwﬁiﬂ“ RERT E"?? i @

o suam ¥ o e owwen ¥ 7
(A) TRRA TISgwyT

(B) R 2= EIETEHNE

(C) i

(D) TR UL H
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A modern
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MOBFET is -
(A IGBT
(B)y FCT
(Cy MCT
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54 A negative sequence relay is commonly || 58 A balanced 3-phase s system consists of - 62 A cl 65
N A
;Sf:d to protect - (A) Zero sequence currents om ¥ <i\"
;gz“ an meémmr (B) Positive sequence currents only (£)
\;> 0 ;‘ nsiormer (C) Negative and zero sequence currents (:>
(‘;} a transmission line (D) Zero, negative and positive sequence )
(1) a bus bar currents . : TH
qm_.,maaﬁﬁﬁwmwﬂﬁ?w T R 3-% o Rt o ¥ % (A) e
e YT & W 5T W T (A) R o w9 o i (B) AC
(g} aire me{ (B) fab wmreres ma aw @ | (C) DC gawi
! . ™y
ngg\ %@é (C) =T q9T SR 9wl ¥ ; (D)
e e (D) I, %NS TGS BT aTas §
W) S ER 53 The Snubber circuit is used in thyristor
55 Plug seiting of a relay can be altered by || 59 In the case of transmission line protection, 93%{}‘{5 for - (C) Rervam &g
varying the - 1 ' over current relay is used - ' (A) Triggering (D) T3 e
(A) Air gap of the magnetic path (A) Only up to 110 kV E’ dv
(B) Number of Ampere-turns (B) Only up to 220 kV g (B) —~ protection
(C) Adjustable backup stop (C) Only up to 50 kv g - 66 W;m negauve feedback in 2
(D) Size of the relay (D) Only up to 1100 kV : di ) conirol system, the system
s No & Wi gf ﬁiwmmw B TTAHT IR (FEm) wEw gl ¥ aiay wie R © T protection parameter variations —
aicafda femar & o e /W SN BT ¥ - (D) Phase shifting (A) Increases
(A) grag ar % a1y S (A) % 110 kV 7% Y S S G oy i
. : TR Hind H TET Grhd @ JUHY @ (B) Decreases
(B) wrdirr-ad=f @ gEm (B) R 220 kV % S ¥ - -
(C) Ty %3 =iy (C) Rrb 50 kV % (A Bt B (C) Becomes zero
(D) R % o (D) R 1100 KV e | (D) Becomes infinite
. lv . o we B N 2 S
56 A mho relay is used for protection of - e (B) "ﬁ;“‘“ RS U I T Dl TH Hw\ e
(A) A transformer against external faults || 90 A short circuit is identified by - at oy e fiermelt % forg R wdemeieraT-
(B) Long transmission Line (A) Voltage rise di (A) T ¥
(C) A transformer against all the internal (B) Heavy current rise () ”f{" YT TG |
faults and external faults (C) Voltage drop at } (B) wedii ¥
(D) Medium transmission length lines (D) No current flow (D) =T TR &g C) o ¥ Wi ¥
)
Uy @ eI fhas )
e e R @ S e & forg RERIEE T OO T 7 . DY) s Bk
frar s ¥ (A) O S5 & GRO . 64 The open-loop transfer function of a ()i el s
(A) ZwER & T B ¥ Rreg (B) aifye oo wo¥ & wRY ; feedback control system is - N S
(B) @& Zrafrsm @ (C) vt P & @ o 1 67 The most commonly used input signais in
(C) Zrawrit @ @it w1l o ol wiee (D) & w@E T B & wre “: G(s)-H(s) :'?W’Wf“}? control system is -
%6 '%\S _!_ E {Zé” N\ £, N
t 53%3@ ) . L %i@? function
D) wam el &g @i 61 Which of the following circuit breaker is The gain margin of the system is - (B) Ramp fumctio
) L o used for railway electrification ? « (AY 2 (B) 4
57 Air used in air blast circuit break 4 f- : tway electrif ' (A) 2 ®) ¢ ;; ler function
) b onived Culi oreaker must — (A) minimum oil circuit breaker (C) 8 (D) 16 (C) Accelerating functiot
) ¢ B A 4 R ‘: ’ RN . o P T E 3 T
(B) be free from moisture gC; Sg plast cireuit breaker b v&%@zﬁ BRI T T S g ;L}} puise mp 5 5 ; 2
(C) have least CO, 6 . G B - RO GO W G e SR O S
N st (D) Bulk oil circuit breaker ] T
(D) have oil mist : o s e a i T 3 e 8 -
. e & ¥ B wffe o7 @ e AL =
e fereiores oy ¥ g - ¥ guanh & 7 SACHARS )ETTE (A) €Y HEF
(A) st B ey T : (s+1) =
- (A) T oo affe Ja¢ (B) M HEH
(B) 0 ¥ Jaw & wilky R (B)
(B) TR = widhe sHT frwem a1 T I & (C
(C) @ ¥ &9 CO, 7@l & o SF ' ‘ (A) 2 (R) 4 (C) U e -
(D) i g 7 (D) ae s e (© 8 D) 16 (D) e ¥
( ‘ e h
3 . 3 - i 1 i ] - { Y
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69

76

B

What happens if load goes increasing of an

Induction Motor ?
{(A) Power factor remains constant

AN & PR T ST - e crgn oy
<~ J FOWEeTr [acior JOCS o1 QSC:S&SQ;g‘

A

(C) Power factor goes on increasing till
full load.

(D). Power factor goss on it creasing up o
full load and then it falls again.

alE T s%a»@“m’" T @Y W

ERII

(&) TR i*ﬁafef{ Rt war ¥

(B) urat Weey wear o b

(C) urart e el Wi e swar e o ¥

(D) gt S Ol 9 9% s g anar &
ol fex e e A s

.SZ
%
4
al
nap
o,

7,

Following Motor is used where high
sfarting torque and wide speed range control
is required -

(A) Induction Motor

(B) Single phase Induction Motor

(C) D.C. Motor

(D) Synchronous Motor

Frerfes wieT @1 swah Rean s & wet o
B T iR frega Ry S R @
AYTH BRI T -

(A) I AT

(B) T =IO U HwY

(C) D.C. X

(D) R =y

o
S

The shaft of an Induction motor is made

of-

(A) Stainless steel

(B) Cast Iron

(C) Carbon steel

(D) High stainless steel

Q"m AT B MG
A) waeE @

(B) w=n (ewei) @

(C) wew &

(D) wmr Be ey @

T E

Cu@

ngineering / fga &ﬁé‘l’%@fﬂ H} \RT-B-1/
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73

t of variations in -

Ugﬁeeé and vo }%ﬁzage

AN ot e

OOow

N’ e . .
L

fau ¥ gib

@ ¥

“\
=3
Nass”

e

TN i
oy
R S

In double cage Induction motor, rotor is do
designed to provide -
(A) Low starting torque, with low starting

current.

(B) High s‘&arf:ing torque, with high starting
current

(C) High starting torque, with low startir ng
current.

(D) Low starting torque, with high starting
current,

S W S T BT TPT §§ UBT T ¥

f5

(A) T uifoe o7,
CIGHEN

(B) = il =i,
HAT T |

(C) 3= urithye
EIGHEN

(D) Fr= ity <fe,

A

CAGHE

e gritfes arg ves
e O Uy wEm

<, frer arifys g wer

T iy 9T e

The field coils of D
made Gf -

C. generator are usually

(D) Carbon

SLEL. SR & BT HiEey SO O Y B
¥

(A) I9s

(B) dfar

(C) e wer

(D) wEw
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74 of converting A.C. into D.C. || 77
} .
' (A Coo = VIV.IA)
!C\‘ g?‘“’ﬂ Ak/ A S|
(C) Rect
(D) Factorization
Ay
AL " D.C ¥ wfalia o o) alem &) &8
B
Wit o
L
( >> -;?Ex{%?‘"?
78
(B) fage=
(O) T
(D) 1o
75 A single phase half wave controlled rectifier
has @G@Sh{'}% f} as the input voltage ¥ fre awEir ¥ fro e E
and R as the load. For a firing angle of 60° (A) 9ga &9
for the SCR the average output voltage is- (B) &9
£ Y orrer { T
T Uha we sgua e Frif e o g (C) ol \Gg-)
(D) &9 W oty
b 1 \ - \.J/ ' t T
dew 400sin{3147) & wis R 31SCR
% forg wrRfT @i 60° @ frg i o 23 |1 79 Which among the following indicates early
ciieest g effect in BIT
(A) A“v&ia‘;chs %fe"kdovw
{ v 01
(8) 240/m (B) Zener Breakdown
(By 400/ (C) Terminal breakdown
A= M :
(D) Base narrowing
(Cy 300/n N et Ao s
Y P 3 a‘*‘"“% w1 BIT % ottt e aafan & ¢
(D) 200/m (A) e deeTeT
(B) SIFR §&S8T
P o _or A .
76 IfTis ti’zs me period for a chopper circuit (C) <hm seew
‘s le. then the chonpi (D) s TET
and o is its duty cycle, then the chopping (L) 2
%@qmmy is
B T & 80
oft s g gihe o ogn dme T ¥ ek o
S LA U
TEH! T TEE ¥, O TR ey ¥ -
(A To, /o
R don
AV N Y
\E} ‘.01;;’» /Lw
i7a) c )T
{Q} o/ Loty
o o/ T
m o/ ion
13
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81 The leakage current in the fransmission || 85 Which law is synonymous to the occurrence
: o1 9 B @8 Q nent magnet tvne W‘S rument ma {‘*P %g ié’li‘ t‘f’ﬁ menag
lines is referred to as the — of diamagnetism ? ermanent magnet type instrument may bt (A) eters
(A} Resistance (A) Ampere's law used for - ! /“' BLTS
(B Wadistinon (T (B} Yoltmeters
(B {* Radiatior w; Maxwell's Ea (A) A.C. only }é’; .
(C) Conductance C) Coulomb's law P et ‘
5 (\?05&1‘58&\%26%‘1 {Tﬁ Lenz's law (B) D.L. only ff j&’ At bour w@mi,& 5
i 3 3 £ 3 3 .o -‘éw HT) ERT OCTTIRT OETEN &
PSRRI EEE T Wrens BT @ el ——ﬁ.ﬂﬂ Eiﬁgjﬁs%@ W TR wa v & R e %? {C} Impulse quantities Rk (Si)ima‘*i) f%% YAl B B L
(&) ET (A) TR @1 g \ AC. and D.C. botl (A} THETH
(B Yeusr D - (Dy A.C. and D.C. voth By St ¥
(B) TgwmE (B) % T T . (B) giReHET ®
(C) Bewy (C) wam o Frow QAR BT SYGTIT B YU Bl § - (C) sredeT #
(D) RS (D) & @1 Fem (A) vl 4 & e (D) are-gmerT- et ¥
- ) 86 Consider a circular coil of radius #" and (BR) R a1 & ;
82 For load flow studies, what are the carrying current 7’ as shown in fig. (B) few & @ 5 92 Relative permittivity may be measured by-
auantit I rified ot lng 1 : 3 1 s 17
?zjxsiizesvagemmﬁ at load bus ? T T G A B ¢ R a@«, ey (C) zeaew wEmell & o (A) Wheatstor ;e Bridge
(A) Pand ¥ m Bri
\) Fane %, R 1 e e § (D) vt 7 R arr B9 F a (B) Hays Bridge
(B) Vand & R / ‘ ) (C) Desauty's Bridge
(C) Pand § 7 \ (D) Schering Bridge
T D ooy .. . . Sram A EE RIS
(D) Pand Q \ 89 The output of LVDT is in the form of — wrtrey oreTere (Rafea xikieR) w wmr s
e} o - Y [ B
e W STl & WY, @S 99 ¥ ffifw wend —s (3 ! ( ; € -
F ¥ 7 / (A) Puises (A) @ ¥g
: . AN A
(A Palr Vv [ g . (B) High frequency signals (B) ¥= 3 ¥
(B) Vax & T (C) Rotary movement of core (C) SR wg o
r 6%3'{ 3 | | (D) Linear displacement of core (D) 9ftT &g @
Dy PaRQ o
* < The magnet flux density at the centre « i FTHTYe fe5d i ¥ 7 . A o
coil i SA ggiv;ﬂ las ) R he centre of LVDT &t & wI F B E 93 AS5A, 230V meter on full load unity power
83 The power which must be available ever TR TETE Y T S % S T A 7 (A) TS factor test makes 60 revolutions in-
deez emergency is known as : o ’ BY af N - 360 seconds. If the norma é éi speed is
(A} Spinning Reserve (A) Hol (B) e fed 520 revolutions per kWh, what will be %
(B) Cold Reserve 2r (C) B & O T error ?
(C) Firm Reserve L, 230 ViRt g gl TET BT
(D) Hot Reserve Hol (D) &I &1 i o T 54, ;43{} v R e s g N
s (B) — » > 3 ur 60 ol ¥ frEm
75 sif S Ry 3 EX— ) S T o U OU TEERTE B ' ONEE
Ell IR RIS Gl N 3 - :
N ’ 360 9T wwmr ¥ uRy wewRe e i
TE ‘F%UXE ot oy Bol : 90 For accurate measurement of low D.C. 520 Famgem/kWh ¥, @ % 3 (error) 20
\ T . 1 o 1
§ ) TANT 1 © Yo voltage, which device should be used 7 (A) 0.10%
(B) @es T ! B) 0.98%
(Y wf frord 7 (A) Small range thermocouple voltmeter (B) 0.96%
I tf\)' 1 : }igi} 7 * <£> 0.42%
(D) ®iz e )] ”"*g;m (B) Hot wire instrument (D) 0.33%
£4 . J s
84 On which fact P 7 Th {of P (C) DC potentiometer
4 On which factor corona loss dependent on? The unit of Poynting vector is : %4 (andela is SI unit of -
: 5. : 21 Tt o 4 (Candela 1s 51 unit of -
(A) Material of conductor (A) Power (D) Small range moving coil voltmster A Velocity -
{ Yy g T 3 : IRy v is Y
(B) Diameter of conductor (B) Power density &7 . IR @ 99w "9 & e fEw {B) mpulse voltage
(C) Height of conductor (C) Energy T BT IUE PR ST A ? O Luminous intensits
(D) Climatic condition only (D) Energy density ' ’Dg - ;“’ 1S IR
as‘z@?ﬂgrra%wfréﬁs"waﬂmﬁa%? ST WY W FEE § (A) B & gdiu dieedie Sy g g“”% .
(A) T & HeREd TX (A) sty (B T : N ’
| (B) NISEIREE] (A) AT B
(B) T@% & oW U (B) vim o= Pl T S o
(C) = & S T (C) (C) . arforiieT *\% f:ﬁ %i%i}_w
™ TH T , . . . (C) & draer o
(D) e e W (D) 1t T (D) &9 XS & R Biaw aeeiiet Zpg”ﬁﬁ %
82G4 | 14 Electrical Engineering / fgq iR z P ;
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96 Transformed impedance Z(s) for network
shﬁm below is -

95 A eonductor carries a current of 8A and
nagnitude of charge of an electron

16 x 10719 coulomb, then the number

section per second is —

gmwﬁxﬁg%@mamws@@ﬁvwmw
1.6 x 10719 gt &, @ IR He W S

e I LT o g e -

(D):0.4 x 1019

97 Determine the initial value f {0+), if -
st v fretfer at £(07), arre -
2(s+1)

32+2s+5

98 For the two port network shown in figur

ctrons which flow through the cross

the Z-matrix is given by
s & freme w U Swed & R
Bl -

i6

? EZ mmw%wdmmww{: j]
A Z, v,
O
-
7z
(A) L Z i +7 ) z 5
I Z 1 Z 1 +Z 2

(B) ~21 + ZZ 22

7z 7
C —
( ) _Zl Z} -+ ijQ_ ]
'Zy oz ]
D ~
( ) _ZI Zl + 1122_

For passive network, the co ﬁcé-;imts of the
polynomials P(S) and Q(S } he network
function N(S) are -

(A) Real and Positive

(B) Real and Negative

(C) Complex and Positive

(D) Complex and Negative

e iRy ead % sgug e P(S) wem QU8)
frdy Tead wew N(S) & fag e -

(A) ITETe q YIS

(B) areafae qe WIS

(C) wem qun oFIeTs

(D) wfew aer wonee

i

i
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e i?u“iiwm‘{:y is not a permanent

oy

5 (

o)

The material fro

P 5.1
*oo By f«*ﬁm; GEY

the fo*,owmg having
temperature coefficient of

E—

e
T &

]

e WRIE 1, T

aterial, dieleciric

(=

&R AT el
Yy g @r—v G

) Y \"iviz'{ T

& Y, SETTEEaT Bl i
TFEHI B -

N
B

(A)

W 7

o

J

Ty
i

o
-
N’

e TETe €l E) YR TR G
N i

e .
&8 ¥ oF uhEE 1
N S —
I WO 9 T w W
=Y R
infg)i@ O TR W @ YUY

2

Ny P

Mild steel have

(A)
B)

7

iy e,

/
™

N
S

)

o

0.1 to 0.3% carbon + 59.7-

’)

99,7 10 99.9% carbon + 0.1~
50% carbon + 50% iron

17% carbon + 83% iron

rEE AT AR B

\
(A) 0

i

instr

L1 R 0.3% s + 99.7-99.9% ana
99,7 ¥ 99,9% wEH + 0.1-0.3% e

50% wrEg + 50%
7% ET + 83% AT

order to get best resulis,

uments are —

¥

(A) srseraHi

(B) erqeEHicd

(C) witm sEda

(D) wifes 7 ¥ U8 FF FEH
| Electrical Engineering /
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107 Superposition Theorem is not applicable || 111 Feeder is designed mainly from point of

for- view of

(A AN

zg\ (A) Its current carrying capaci

;{,1 (B) Voltage drop in it

\\,/‘ ™,

(D) (€} Operating voltage
godfaem s fred fig g ) ¥ (D) Operating frequency
(A) TS @) o WIST e ¥ § fw ghem @ s T
=N )
gff %ﬁfﬁ T (A) sU& 91U T59 v

Cy uTerT &y oy Y
D) Rifsra (B) su% awew @1 e

PG dcd

~ <
(C) wrRsr g

108 In series RLC circuit at
freque =ncy, current will be :
(A) Minimum
(B) Zero
(C) Same as normal state
(D) Maximum
% fow RLC @fbe ¥ Wew g w
T %1 " B0
(A) e
(B) s
(C) gaigar
(D) srftemay

109 A 490 €2 R, is connected across a voltage
source Vg = 150 V. The source's internal
resistance Rg is 10 Q3. What is the output
W‘h%ge across the load ?

T 4900 @ e (R)), 150 97w & o &
awﬁgagw%za%aweﬁaﬁ@smﬁa Rq,
1002 %1 wie @1 ez deee w7 ey
(A) 150V
Byov
(C) 147V
1&) 3 ‘§‘

11§ Which of the fol ‘“w;ng power plant has
least efficiency ?

{(A) Nuclear Power Plant
(B) Hydro Power Plant
(C) Steam Power Plant
(D) Diesel Power Plant

T B QTR T O qer wed o e

g7

(A) iy otfery e

(B) waw sl oo

(C) wra grfery g

(D) som orferr g

82G4

becomant
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(D) wrderd smghy

12 For a particular system corona loss at
60 Hz is 1 kW/km per phase. What is the
corona loss at 50 Hz in kW/km per phase?
U {8 I % T e ' 60 Hz wX
U kW/km 9ie %1 8- % o 50 Hz 9 &
I kW/km ofy e w20l 2
(A) 0.88
(B) 1.0
(C) 1.13
D) 1.2

113 Choose the correct schematic arrangement
of nuclear power station.

(A) Nuclear reactor, heat exchanger, steam
turbine, alternator

(B) Steam turbine, alternator,
exchanger, nuclear reactor

(C) Steam turbine, heat exchanger,
alternator, nuclear reactor

(L) Alternator, heat exchanger, nuclear
reactor, steam turbine

T forege s e W e e g |

(A) oo Qe a9 UeeRieT, I TR,

HFRIALT

WY 2T, SRR, AT TRy, TR

et

Wfdaws"i Y TS, SFHeT, G

froget

TR, O qEERio, T Rugey,

WY T

heat
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sy

tal law states that 117 If a2 copper cond
114 Ampere circuital law states that magne ;gv?r“i -
5\:‘ N %
e it widi Fr e (A) The copper
(B) A voltage w
() [H-di=1 (€) A
Y (D) No
{ 7 ¥ 4
(B) OH -dl=1
o
() VxH =1
Dy V-H=1
1 Iano 4l 118 *«f/ hich one of the following is the reciprocal
indrical ot vert along the >
115 A cylindrical bar magnet is kept along 5 of magnetic permeability 2
axis of a circular coil. If the magnet is (A) Reluctance
rotated about ifs axis, then (B) Permeance
(C) Susceptibility
! 7 £ sﬂ 3 4 o \V/ S
(A) An emf will be induced (D) Reluciivity
(B) A current will be induced T Y B YEOR TR e e © 7
(C) No current will be induced in the coil (A) wfresrs
N
(D) Cannot be defined. (B) erfasiis
Ly Lannot £ CUned .
ot F EN T .
Ter R ST TS Th W HSTll o g {B) R R
; ] . % e T el Ty
N SR S 119 The current induced in the rotor conducto
R ar - of single phase induction motor has su ifiz
i Bl irection, which :
) T, YT BRI dire s
(A AR S (A) supports stator mmf.
(B) wrr ¥fa & | (B) opposes stator mmf. ]
e ¥ ' i itive half and opposes
; & 7 ofE = el (C) supports in positive hail ar
\ ) = i | { 1 o
(C) gt & i ot SR 7w in other half cycle of current.
) R e} v & geer | {D} None of these . R
Rive e et (UTOT) AR H e §5¢d{ :
A = =) .
T i&wﬁ%ﬁw%ﬁﬁm%md‘s&
i lic sphere of radius 7' 3 , e
116 A hollow metallic sphere of radius 7' 1s (A) ST TLEHCE, BT qEET F 5
. , . o Ry &
kept at potential of 1 volt. The total electric (B) &% TL.UATE. & N —— ; |
flux coming out of the concentric spherical (C) uRT & Wfwre & Tean e
. -
surface of Radius 'R" > r) is - 3Ny wm F foy wer T
1 5 | " BE WE
Ry ' o1 U G arg 8 1 S @ e (D) v ¥ @B
T @ 5T ¥ 1 B R (> ) % Wehisa M || 120 In super conductivity, the electrical
' : 8 Lol oo e
: TR -esistance of material becomes :
woe O Frew o g REa W S - resistance
5 (B) Finite
(£ R B) Finite
(A) dne, A (C) Finit
(D) Negative
B E, 7 i
B W@S@Fﬂ%{ﬁ@ uTg @ R B ¥
2 (A =T
o !
(L) 4dn €5 R {B} \%‘ .
C) =
(L) (D) BRI
82G4 | 19 | Electrical Engineering / faga it |
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I A Bell le i i aetric can be shown || 132 All
121 A Bell-Coleman cycle is a reversed - 124 General Gas Equation is - can e Shaw me
(A) Carnot cycle e g gl ¥ - (A)
- - - 4 3 45\/
(B) Joule cycle (A) PV = nRT ;@
Wiy
() Otto cycle (B) PV = mRT (C) 120° A
- T D N
(D) Stirlling cycle , ;D‘ 17¢
(© pv' =cC D) netric se P
R
IH-BIHT g% oW § - W BV =0 WS o N e o
T ¢ N /T ) el W guhe § o el e fed 3D TTY T
(A) wFTE = D) Cp=Cy = RN ‘ o Regren S e )
J G & TS W SUU B BT @ S e (A)
P ‘ ) .
(&) W\W 123 Which of the following has least magnitude R (B)
ifa S 3 " I )
(C) ol =z of conductivity ? (A) B W )
(D SHEGE ( las PN ¥ :
(D) =i = (A) Glass (B) sy = D)

122 Second law of thermodynamics defines
(A) entropy
(B) enthalpy
(C) heat
(D) internal energy

ST BT G e afeie g &

(A) T

(B) ardm enfan
(€) i

(D) arale oo

123 A perfect gas for Boyle's law is -

4 _1
(A) 5 =% (Temperature is constant)
BN
5 Lol e e
olume 1 nst
B T u s constant)

ho_%
C) 77 T 5 (Pressure is constant)
© VT ( )

(D) None of these
gt T % e e @ e b -

\Wﬁm——fg_ ﬁe %

(A) 2T (@A Rew ®)
A _T

(B) “;;‘:3;; (e Ra ¥)
n_nh

© }};“}; (& Rt %)

D) ¥ ¥ 3 7

82G4 ]
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(B} Water

(C) Plastic

(D) Air

e & & Rewe Twewar o o ged
(&) @i

(B) urit

(C) e

D) wa

126 Two plates spaced 150 mm apart are

maintained at 1000°C and 70°C. The heat
transfer will take place mainly by -

(A) Convection

(B) Radiation

(C) Forced convection

(D) Free convection

& T T gE ¥ 150 Preinter o w 10000
HaTs ot 700 ¥ w orhim € 1 wew
W qegaar fas 5ry 2w 7

(A) dew

(B) fafeo

(C) vnikg demw

(D) T waw

127 Compared to parallel flow heat exchanger,

LMTD in case of counter-flow heat
exchanger is -

(A) lower

(B) higher

(C) same

(D) unpredictable

T YaE o R @ geer ® oy vee
oy fafmRe & LMTD &6 & -

(A) &n

(B) vurer

(C) TET

(D) s
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130 Producing computer generated drawings 18

S —
C) i W

(D) @i

g

scale factor of -

T QU1 SO B aeie \@eT % oY Y @l

(=N

o~
RO
R
et PN beed et
D A I

called -

iy
C) CAM
D) GPS

131 For two parts (3D solids) that will fit
together without any interference, what 3D
AutoCAD command would you use ?
(A) FIT
(B) UNION
(C) INTERSECT
(D) INTERFERE
& 3D (B wiw w fem el sl @
5z o & T @@ W 3D AutoCAD wAls
TYEET WY 7
(A) fee (FIT)

)y gige (UNION)

/
(C) Fe@=e (INTERSECT)
) gzt (INTERFERE)

<

82G4 |

a

(A) YZ plane

(B) XZ plane

(C) XY plane

(D) ZX plane

G i G E T &1 Falye oo s % ''''
(A) YZ &

(B) XZ ==

(C) XY @™

(D) 7X ==

/

134 This type of section is limited by a break

line -
(&) Removed section
(B) Revolved section
(C) Broken-out section
(D) Half section
. .
T WX 1 FFITT TS e @IEA &1 Wi
(A) wer foum mr S
(B) TR
(C) Evs-gvs JFFH
(D) emem FHHR

135 The edges of a cube in isometric projection
make angles of this degree with each other-
.
S - S
FEARTE WeE™ o W W B U Gl
oy ey ¥
& oy 3w ol & @ T € -
(A) 30°
(B) o0
(C) ol°
(D) 120°

i
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AvioCAD | 148 Ina

136 The emisomay for a black body is -

W AT B Seasmal B ¥ -

of
(A) 0 0\ (A
- W) iy
(B) 0.5 free end will be - B (B) Decreas
) 0.75 o ] = N v (C) Rema
() 0.75 T [ R w1 §be B w @{"ﬁ/%%?” €l ( e
(D) 1 T W @ R e o e 3 (D) None of zi‘zeﬂe
T &9 Y ai | Lg\ NESIESC QGRS e wwerdr iear ﬂi’%} e 3%"‘31\?‘% FARCIRIEGT
r ~ R OO A G oo Wits W SV, RS e W
éas‘a;‘ % Wl BT U STETT SRR ?:%:ﬁ"f ? AutoCAD ¥ 7eTE & W o v A R
137 The ratio of linear stress to linear strain is (A) wi ¥ (A) wed
Tn . R () S8
known as ‘ (A) W-3r (B) v ¥
{(A) Poisson's ratio wi? e e s T
N . (B} (B) X-& (C) R et %
(B) Bulk modulus \ S o el
. . 2 (C) V-zre (D) = ¢ o5 T
(C) Modulus of rigidity .
, (T 7 oasen
7 ] o .. [ - \J’;&l R . . )
(D) MG&]“@S of elasticity O wi ‘ 147 Saturated liquid or the saturated vapour has
0 (a3 - By
e Tve ¥ ew Rgaw & oo CARSIE 2 o . - how many independent variables 7
N/ " y {2
B %” 144 The type of line that projects from an object D i e &
ST & D) Z S ) W a0 U g 9 B A ey T e 0
. (D) Zero : ! for the express purpose of locating a A 1
58 X » ] l
(A) HIEET 1 ST .‘ dimension i8 8 . line EB\/ 5
B) s 9 . < . N Viaihi /
®) HITeh 141 The unit of Young's Modulus is — (A) Visible ) 3
~ (RY Hid N
(C) weram WW (A) m/m | \Esi} :mdez’% (D) 4
(D) Wi wgis (B) kg/em (C) Extension
(C) N/m? ‘ D) Dimension 148 S.1. unit of enthalpy is -
PI = P . , ¥ Py & e
138 Hook's law is applicable upto - (D) ke-cm T[T TR W object ¥ space BIBGT dimension ST e TR (S.L) § O @ A
) line § 18T & T(% W9 9l &, BewK § -~ g -

(A) Proportional limit
(B) Yield point
(C) Elastic limit

T A B ATE E@T T - (A) e (A J/m

\ (B) JK
(A) Br/m (B) = @Ew f"i kg

(D) Point of failure (B) feum. et () R e (D) K/J
& & Frg ar g ¥ - C) =gz (D) ufey wiE
(A) sk €T aew (D) Tesar.—a+. : 149 The unit of length in S.I unit is -
(B) s foreg @ i 145 "Energy can neither be created nor (A) Metre
lestroved but can be converted fron (B) Centimetre
(C) wiwer € qw 142 The bending moment at a section, where T ¢ émtm‘? ”CL;U”, ean k}f wd fued O one ;Qg Kilometre
. form to other" is inferred fron VR
(D) T fag 9% shear force is zero, will be - (A) Zeroth law of thermodynamics (D) Millimetre
(A) Zero S e S.L zaE ¥ deE @ e ¥ -
139 Th ) ) _ ' o (B) First law of thermodynarmics (A \§
he rela}ﬁ.mnshxp between Young's todulus (B) Maximum (C) Second law of thermodynamics P >
(E), Bulk modulus (K) and Poisson's ratio (C) Minimum (D) Basic law of thermodynamics (B) w=mET
. . A N (C) TramRT
1L} is given by - D) Either minimum or maximum “ ;< = o
(',,z) g y (;. ‘ m or um AT W A T S W ¥ i W & we (D) R
T AT (E), b wies (K) ot g s UF WS WEl Hacl 99 g ¥, el 9 e fRoT 7 Wea € UTN] U W0 ¥ aud ¥ wual
5&. R3] T Bn fay ; o . o . R
(1) & <9 g9y § - i ' fer ‘C*j"w " e e e e g 150 The ratio of two specific heats of air is
) (A) = T T E equal 10 -
A) E=2K (1-2 : . . ‘
<B)E—3K<i 2;’” (B) s (A) STUaREs & SR Frem T & o fafdte ol % e F EUET § -
<C> - (1=2p) ©) = (B) wewafen @ vum fam (A) 0.17
== — Y ?‘ SR v o o0 o { 9]
(B} E=2K(1-3p) ) S (C) wwmafeE & &l Prm %3 ?;4
=2 - : TH YT ST _ N Y 0.1
(D) E=2K (1-4u) & / " (D) TEUARTh] & TEET oY Pl

(D) 1.41
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181 A . .. body reflects entire radiation
incident on it
(A) transparent
(B) black
(C) gray
(D) white
T e S e e w arren e der b
(A) TrREsT®
(B) @
C 7
(D) g

152 Thermal conductivity of water at 20°C is
of the order of -
200C 9T Uy @I 9N AEEGST . %
%9 BT |
(A) 0.1
(B) 0.23
(C) 042
(D) 0.51

153 Emissivity of a white polished body in
comparison to a black body is -
(A) Higher
(B) Lower
(C) Same
(D) None of these
T T TET @) gEe A U gihe oifet v
&l IS & -
(A) T=ER
(B) =9
(C) susy
(D) 5 ¥ &g e

154 Convective heat transfer coefficient doesn't
depend on -
(A) Surface area
(B) Space
(C) Time
(D) Orientation of solid surface
EHIETGIEN
(A) wa® &
(B) shafwa
(C) =

(D) S/ T B SS@BT

82G4 |

Tt Prefx

24

155 Thermal conductivity is maximum for
which substance 7
(&) Silver-
B) e
(C) Alumi;
(D) Diamond
fore werl & Tow ody wwrear efreas ¥ 7
(A) T
(B) &%

7l
kN

(D) &

ium

i

156 The heat transfer takes place according to-
(A) Zeroty law of thermodynamics
(B) First-daw of thermodynamics
(C) Secomd law of thermodynamics
(D) Kirct xwoﬁ‘s law
(A) Wm&r'“r Amr S ﬁ'e:m
% gem Frm

The term - is
KA

{B) Thermai resistance
(C) Thermal conductivity
(D) None of these

KA{T, =T
ST B T Q:MWM»

X

=
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158 Which of the following has no unit 7

Kinematic viscosity

Strain

wiigg ¥ © Reuey o8 o Wl T 7

(A) genive faufamee

The value of Poisson's ratio for steel is
between -

(A) 0.01
(B) 0.23 t0 0.27
(C) 0.25 10 0.33
(D) 0.4 10 0.6
(A) 0.01F 0.1

(By 0239 0.27
(C) 0.2590.33
(D) 04706

to 0.1

166 When a materiai can undergo a deformation

without rupture, it is cafied -
(A) Malleability

(B) Ductility

(C) Tenacity

(D) Brittleness

o5 o1 e e wwe 7 R gu i
fereueT & S ¥, e § -
(A) g

(B) =

(C) e

(D) sqean

82G4 |
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161 The 5?9??‘5’4 Gf centre of pressur
i

=y oo 11 3
lies at a disiance

with the 11’2?“’5 surface

-
equal . the centre of gravity.

5y

¥ A
) i3 sin“ B
(A) e below
AX
IgsinG
®) ~E— below
AX
(Cy =5 above
I;sin” @
Ax
D) - above

I;sinb

79 UqE ¥ O B0 W T §9 T6E & O FE

¢ e BE % e gl o ¥ -

- 2
Imsin® 8
) L—
AXx
Insing |
B ~L—— 97
AX
X A%
cy AT
© j’Gsm‘z%
A%
D) e W
I;sin6

. According to equation of continuity -

AR THE B STET —
{A W] al

(B) w, Vi = Wy Vs

Wzﬁ"}

e % pe— Ay
{L} a*} ‘Ji . az J2

2 — /s
(D) ajfvi=ay/v,

N
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163 Resistance to fatigue of a mat:
measured by -

A)
B

Pt
H

Young's modulus

Bulk modulus

R—s

Elastic limit

Endurance limit

Tt verd ® A @1 ey Reeds g O
T E 7

(A) O amie

(B) = w@maie o

(C) vy (wfaesar) 9@ @

(D) Tt 9 ¥

e e e U
N

164 The sleeve or muff coupling is designed as

(A) dun cylinder

(B) thick cylinder

(C) solid shaft

(D) hollow shaft

W AT A% YT B TH & WY § eeET Ry
HEE S

(A) =7 foaist

(B) =rer fiset

(C) 3 s

(D) w@rEen 9w

165 Calculate the torque which a shaft of 3 cm

diameter can safely transmit, if the shear
stress is 48 N/em?.

UHh 3 cm T BT {9 U FuEne yRw
48 N/em? &1 &1 8, fopamm sremepel gefere w
o T &Y gear ¥ 7

(A 27 1 Nem
(B) 817 Nem
(C) 547 Nem
(D) 487 Nem

82G4 ] 26

st
e

[

168

7 In an axial flow

ngine works on

g
9
et
<
s

e ]
cycle.

-

br avion
{.‘!

o)

{\.
foun
i

O Wwo>

R e
o

di

P S P L NP
-
[,
o
o
<
7 a
('D

a8

And,
&
Al

[ fE T W oe mw ¥ 7

o
-
s p—
Q.%/

¢
3’1

B) s
(C) =
(D) aer

0Ty
COr

rise occurs in -
(A) Fixed blades only

B Mevmg blades only

(C) Both fixed and moving blades

(D) None of these

T Y TAqE O ¥ g ghg o ¥ -
(A) o fergs (o) & F

(B) %ew Tivg =5 &

(C) Trorgs 9T afvm =7s, <7 o

(D) 378 ¥ @i &l

e

Which component of a gas

consumes maximum power 7

(A) Starter

(B) Regenerator

(C) Compressor

D) Combustion chamber

T TXEIsT % R T F e bR e
(A

turbine

%E;é”\
(B FCRECAS
(C) @uet

18

(D) =57 »w

Volumetric efficiency of air compressor of
the order of -

Y HU Dl AR TR
e

(A) 20-30%

(B) 40-50%

(C) 60-70%

(D) 70-90%

o T B

]Medms‘simi Engineering / 3% wlwifya

|OPTIONAL SUBJECT / ¥shirss R

(D) Generating pressure directly
T HETIE BUET o & THEE T

H HLET T |

o £ RN R
(A) TIOE B W TEE B BT WA

{Bi 'c‘z“eﬂaﬁm 7 Tl S @l @

@} %‘%‘é‘z T T BT
171 The saturation temperature of steam
increases with pressure increase -
(A) Betfore slow and after fast
(B) Linearly
(C) Before fast and after slow
(D) None of these
Y S ST qOAT S §67 % 91 S8 § -
(A) wEa ¢ gur BT e §
(B) thew wv ﬁ(’
(C) vee oo § e et @
: ©) 7 3 3
172 Steam superheating is d -

{A) At constant volume
(B) At constant pressure

C) At constant temperature
(D) At constant entropy

g @7 e R W ¥ -
(A) ReT amaT U
(B) Rz Tw Uy
(C) et EECEY
(D) Rerx @mﬁ qY¢
82G4 ]
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o
~3
oé}m,

(©)

1. .
is a substance whig
.
nce to change of
TESSUre
T o
Flow
A N
“\\1'}‘ uﬁa?if"
I8 Y/t
(D) Volume

7 0 ar e ¥
Y T EHET 7
(A) Ty

(8) vu®

(C) s

(D) smuaw

vﬁaf

Which of the ‘f@ﬁc}wéﬁg is t
Kinematic viscosity ?

{A) Pascal

(B) Poise

(C) Stoke

(D) Faraday

Frelafee o § o O afad saFET &) soE
g7

(A) [TERd

(B) urza

e

HE

D)

Which one of the following is not a unit of
dynamic viscosity 7

(A) Pa-S

(B) N-s/m?

(C) Poise

(D) Stokes

e ¥ @ am o e som
T 87

(A) Pa-8

(B) N-s/m?

(C) di

D) =

al o g

~

If w is the specific weight of liquid and h
is the depth of any point from the surface,
then pressure intensity at that point will be
o w il X @ fafre 9 ¥ @ howw
¥ o Wy o mevE ¥, a7 9w Rg wwoaw o
dreran fesern Bl

{(A) h

(B) wh

(C) w/h

)
(D) Ww
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177 An ideal flow of any fluid must fulfill the || 181 Davis steering gear consists
it & B PN
ollowing (A) sliding pairs
i rne’sisr% (B) turning nairs
{ motion {B) turning pairs

ity Equation

fenelt ot T verd @1 U anest vame Prefiag
S Y HET MY

(A) = w1 Tia &1 fgm

(B) == & fauRuee @ Py

(C) urema &1 Fram

(D) s gie

178 Unit of mass density is -

S T B B S -
(A) kg/km

(B) kg/m3

(C) kg sec/m*

(D) kg sec?/m*

179 An ideal fluid is -

(A) one which obeys Newton's Law of
viscosity

B
©
D)
T eyl o garef 9w ¥ -
(A) St =z & Rufouee % Praw @ uee
el ¥ |

B) =i e ot erddigy &

C) s sga. faufaw &

(D) =i efor <R oi Riger gan &

frictionless and incompressible
Very viscous
frictionless and compressible

N
p——g

-~

180 Density of water is maximum at —
U B ST § -
(A) 0° C
(B) 0°K
(C)y 4°C
(D) 1000 C

28

(D) higher pairs
Oy, e .
g wrafer free @ Beer = § -

- o Y
D) aEEy SitE

A kinematic chain requi
(A) 2 links and 3
B 3
(C) 4 links and 4 turning pairs

(D) 5 links and 4 turning pairs

TH A JON B G Y FT 9 ST
B

(A) 2 fw ol 3 wis =R

(B) 3 [tfw ot 4 e &

(C) 4 R ox 4 @ aR

(D) 5 v o 4 W o

%:ummg paéfs
links and 4 turning pair

(/)

In a single slider crank
(A) Each of the four pairs

chain is -

is a turning pair

(B) One is a mfmrg pair and three are
sliding pai
(C) Two are {uming pairs and two are

sliding pairs

(D) Three are turning pair
sliding pair

Tl RS 7 o A -

(A) QWW#@WE&@%%%

(B) w5 g% WS ofiT fw ey Al S
Bl ®

(C) & g% TSt oY & e ol S B
B

(D) 6 g% WSl ST UH T IR WSy

Bl &
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2en number fﬁa;yh !9}
chain 3 «‘ﬁ‘«pre
chain and the nyumoest

g,e}m%#@@@w
F €T gy B -

Momentum
Work done
(C) Impulse
(D) Pressure

W (F) 8% O (1) & G Bl 5 § o

EIGI

(A) g3

(B) forar mar e

(C) ame

(D) =z ™
186 An axial flow compressor have -
(A) a drum type rotor
(B) a disc type rotor
(C) a drum type rotor or
(D) None of these
T FE verE doee ¥ g ¥ -

a disc type rotor

(A) & $9 YR & IUie
(B) us %@ waTe o tgg*?db
(C) T 9 9eBIX & TUie a1 U 5@ vear &

187 In order to avoid cavitation in centrifugal
pumps which one of the following helps ?
(A) Low suction pressure
(B) High delivery pressure
(C) Low delivery pressure
(D) High suction pressure
SUhT 4T ¥ B & Ad
g7
(A) &9 3o g"

(B) vumn for s
C) ®n e T
(D) wamer Twwr g

82G4 |

& g v sy
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Eggﬁ‘ i unt

189

ing governor is -
(A} More stable

(B

(E=);

(B) o7 dagwsim
(C) v seewsier
T T B T

In case of rolling of
gyroscopic couple on

(A) Maximum
(B) Minimum
(C) No effect
(D) Average

T R % gew B Ruft ¥ v s wn
U GUIETTd) g B g9 S § -

a ship, the effect of
the body is -

(&) arftreme

=
(C) ®F v a8

(A) directly proportional to speed
(B) directly proportional to (speed)?
(C) inversely proportional to speed
(D) inversely proportional to (speed)?
aie syt o FuE ¥ -

(A) wid & T g

(B) (k)% @ g g

(C) it =l gwpwTaw

(D) (f)> & =gereTury
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191 The

rotor of a ship rotates in clockwise

direction when viewed from stern and the
ship takes a left turn. ?ne effect of

gyroscopic couple acting on it will be -
(A) To raise the bow and stern

(B) To lower the bow and s%sm

(C) To raise the bow and lower the stern

(D) To raise the stern and lower the bos W

Teh STETST @ et O & e o7 shored R

%Wwwm@@wﬁ?gﬁaz , G

W wE R geieed st oo g

SUr,

(A) e &t O% &1 e A9 wor o3

(B) o &R 9 o1 w99 99 2

(C) ol &1 e S qar O @1 e 99
il

(D) 9 &1 e S awr o ar e 99
BRI

192 Purpose of using differential gear in
automobile is to -
(A) Control speed
(B) Avoid jerks
(C) Help in turning
(D) None of these
st ¥ frdes (Rontform) Prrc o soam
BT BT IR & -
(A) wifq s
(B) #redh @ s=
(C) 95 ¥ wee oy ¥
D) ¥ ¥ =g =

193 Which one of the following effects is more
dangerous for a ship ?
(A) Rolling
(B) Steering
(C) Pitching
(D) Waving : ‘
Frfefem % & B o1 wore wer % R e
RS T 7
(A) e
(B) wufar
(C) Rife
D) T

82G4 |
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194 Which of the following parts of 1 piston act

as bearing for ¢ connecting rod side thrust 9
(A) Ribs
(B) Pi

a
(C) I

( ;{}} Piston skirt

oS O ?5 TIES 99T & T Rrew o7 e
TFT TEH c%a'?ds T7
{Aj Cv.*

(B) iﬁ%«mé S
(C) fmes fum
(D) W= we

1ﬂugh

S8

(C) same

(D) unpredictable

fooell 7 et woe o) gee & o wee B ar
o oy s ey -

(A) st

(B) =9

C) ==&

(D) ety

196 The notch angle of the izod impact test
specimen is -
Izod worer wliemr s o wreE B & -
(A) 10°
(B) 20°
€ 30°
(D) 45°

197 In a gear, havin ng involute teeth, the normal
to the involute is a ?angm fﬁ@
(A) Base circle
(B) Pitch circle
(C) Addendum circle
(D) Dedendum circle
T FeR ¥, o7 @) ey &
sl e ¥ -
(A) e =
(B) T &1 8w
(C) ulthre g%
(D) =g 9w

5 [0 WY BN ¥ s
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198 The size of 3 cam

A) Base circle

) Pitch circle
) Prime circle
\
J

Pitch curve

HY IHT foref

4

199 Permanent fastening is called -

(A) Bolis

(B) Rivets

(C) Screw

(D) Keys

(A) IR

(B) fEe

(©) =

(D) @l

200 If C is spring index, then Wahl fa

4C-1 0615
(4) 4C+4 C
4C-1 0.
.+.
AC—-4 ¢
4CH+1 0615
R
4@-—4 C

N
-
(5

B)

ctor is

[o%]

ek

-
o



